4 3 2 ]

REVISIONS
10 GENERAL NOTES
11 ALL METRIC DIMENSIONS ARE IN BRACKETS [X.X] REV. DESCRIPTION DATE APPROVED
20 DESIGUNOTES. > Mpe/mcspatcom A INITIAL RELEASE 180CT23 | 401814530MO
30 MANUFACTURING/SPECIAL REQUIREMENTS 1
3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD.TIGHTEN ALL U-BOLTS USING
TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE AND EQUAL FORCE ON EACH LEG OF
THE U-BOLT.

D 40 TEST "
50 PACKAGING D
51 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT IS-PL-3005
52 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER B
53 EXTRA HARDWARE MAY BE SUPPLIED BAGGED AND SHIPPED

C (16) C
SCALE1:5
3 DETAIL B 3
SCALE1:3 —
COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT.
ITEM PART NO. DESCRIPTION QTy. WEIGHT NOTE NO.
1 WBLB123.06 12" WAVEGUIDE BRIDGE SUPPORT BRACKET 4 8.66 LBS COMMSCOPE, lNC OF NORTH CAROLI NA
2 GUB-4356 1/2" X 3-5/8" X 6" GALV U-BOLT 8 0.81LBS TOLERANCES SAP MATERIAL MASTER
3 WBJB6 1/2" J-BOLT 8 0.49 LBS 1PLACE X[X]z+ 0.2[6.3] 3 PLACE XXX[.X]+ 0.060[1.5] CSWB110-14-DCH158
4 PC-034 PIPE CAP 3-1/2" 2 0.66 LBS 2PLACE XX[X]+ 0.12[3.0] ANGLES = 2°
5 MTC9411 3/8 X6 FULL THREAD BOLT 4 0.21 LBS FINISH MATERIAL
6 MT-387 SQUARE WASHER 1-1/2"X1-1/2" W/ 7/16 HOLE 8 0.11LBS
7 MF39901 CLAMP HEAD 4 8.07 LBS
8 31670-3S ROUND MEMBER ADAPTER, 75-100MM, 1EA 4 0.07 LBS 3 NAME DATE TITLE
A 9 294702 CUSHION, 1-5/8 CABLE, 1 HOLE 4 0.19 LBS §¥§ CE | RY1002 180CT23 12ux10|’ 13!6“ LEGS, 1'5/8" CABLE, DUAL A
10 GN-04 1/2" GALV HEX NUT 8 0.04 LBS DENSITY bsfin? %‘E’; RW | RY1002 11/13/2023
11 GWL-04 1/2" GALV LOCK WASHER 8 0.01LBS :%) w § W
p MASS | 328.55 los o8 [AD |Ywioa7 111612023
12 |GWF-04 1/2" GALV FLAT WASHER 8 0.04 LBS VOLUME | 117720 | 258 TG om0zs | SCALE | DOCUMENT NO.
B lon0s 318" GALV HEX NUT 12 00288 suReace e s | S50 |y s0radsacho 1:17|  CSWB110-14-DCH158
14 |GWL-03 3/8” GALV LOCK WASHER 12 0.011BS HEIGHT | 160.7[4082] SIZE  |AunhGroup  INSL MODEL DRAWING SHEET
15 WB-CY110 SAFETY GRATED WAVEGUIDE BRIDGE CHANNEL 2 37.00 LBS - LENGTH | 121.5[3086] C @ Jé[ VERSION | STATUS | REVISION | VERSION | STATUS REVISION
16 |MTC547160216 3-1/2"0D X 160" GALV PIPE 2 101.38 LBS (C) 2023 CommsScope, Inc. Confidential WIDTH | 34.0864] 00 RE A 00 RE A 10F 2

4 3 2 ]



A

[ —

v

(e
)
i
DOV

o

i

2k

o
o
o
o
o
o
o
o
o
o

X
MWA
)\ \
o

< ST ST ST ST ST oST oST oS oSS oSToSToSToSToSToSToSToSToSToSToSToSTEoSE S

( YWAAAN

O

A%f
it
@&&&wv

q
(0

y
A
y
y

¢

“

i
A
A
A
A
A
S
A% y
B
A
AN
S
A
A
v@m%o

=N~

%&M%%
‘dwwmo
A

)

ogwg,.
(XX OmR

y

%A
(X
A

X
X
%A
Wi
il
|

(2X 121.5(3086]

)
%
o

X

(34.0(864])

SHEET
20F2

DRAWING

REVISION
A

STATUS
RE

VERSION
00

@, (aa <
—1
<C <C o
= w o
—
@) _ I
&)
o - a
S ea) <
T << -
5| o e
o © —
= L =
5| = £
- =
. wn g O
&) O) =
= L 3
- . | (@]
L
©
m op)
D e w LO
W o mll
o >< D —
& N
w I
E N O
S _
i
i &
=
|ﬂ||:|1$-1mw
.|1¢-1WW
=
v ]
'
o0
o
&
N~
(an)
©
Q o

@ 2023 CommScope, Inc. Confidential @ 6



	Sheet1
	Drawing View14
	Detail View A (1 : 5)
	Detail View B (1 : 3)

	Sheet2
	Drawing View8
	Drawing View9
	Drawing View10


